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B Mode MEH

Mode 1 : EM1 on, EM2 off (ring drive, carrier driven)
Mode 2 : EM1 off, EM2 on (sun drive, carrier driven)
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Fig1.base motor torque map
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Fig2.scale motor torque map
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Fig3. 2 a&J10{ free body
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diagram

Isxws =Ts —Tcs

v+ 1 ip+ 1
(Ic + Ip")wc = —-Tc + P * Tcs pZip x Tcr
Ir xwr =Tr —Tcr
ip—1 ip—1
Ip xwp = (pz )*TCSI pZip * Tcr

(ip+1)*wc=ip*wr+ws
Is=inertia of sun gear, lc=inertia of carrier, ip’ inertia of planetary, Ir=inertia of ring gear,
ip = ring and sun gear ratio(ip=zs/zr)
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Gear ratio(1st) 8.05 13.5 15.5 18.2
SOC(initial 45.8% 47.41% 47.42% 47.4%
50%)
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Figd. Motor1 Figb. 0.7 Motor 2
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